
Prof. Haiman Math 1A—Calculus Fall, 2006

Quiz 6 solutions—version B

Name Student ID Number

1. Differentiate the following functions of x
(a)

(cos x)x2

(cos x)x2 (
2x ln cos x− x2 tan x

)

(b)
(sinh x)(cosh x)

sinh2 x + cosh2 x

2. Find a formula for
(

d
dx

)n
eax, where a is a constant.

aneax

3. If P , Q and R are functions of t that satisfy the equation PQR = 10, find R and R′

when P = 5, Q = 1, P ′ = −5, Q′ = 3.

Use PQR = 10 to find R = 2.
Then use P ′QR + PQ′R + PQR′ = 0 to find R′ = −4.
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